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The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7
friire gqrd og emprRe U fral ¢
(a) Define null hypothesis.
e amr ice fral |

(b) 95% confidence interval for population

mean (u) for large sample test is

Contd.



28 dfomia TR W (1) T 5e% Fedm A=
LG

[ X+ 1.96——
(i) X+1.96—

(i) X- 2.58—

L 0582
ket g

(Choose the correct option)
(% GGFCh! JR Gl7sdn)

(c) Write any one basic assumption of
ANOVA.

ANOVAR Rzl <51 2idfis sfediae ol |
(d) Level of significance is denoted by :

Al w1 e Mal 27
i) a
i) vy
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(iii) B
(iv) None of the above (€9¥9 bI® 7ZH)

(Choose the correct option)

(&% Gees! IR Bfsd)

(e) In one way classified data, sum of
squares due to error (SSE) is obtained

as :

G (=T Roifere v cFeae 39f @R i
Tforedl =0 ¢

i) SSE = SSR-SSC

(i) SSE = Total SS — Treatment SS
(iii) SSE = SSC - SSR

(iv) None of the above (873 (AL

)

(Choose the correct option)

(9% CaCo! R Clereq)

() For a ‘sign’ test, if two scores are tied,
then we discard them.
(State True or False)

BT A9 JILT IFEICS W 95! WA O 7,
(STE TR S A g

(8% & g5 &)
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(g9 In ANOVA test, following test statistic

is used :

ANOVA +frms fufEie 9 fowias
R 9 = 3

(i) Z test

(i) F test

(ifi) t-test
(iv) None of the above (8o (IO

=)
(Choose the correct answer)
(o5 CGICo) JifR Gl ed)
2. Answer the following questions : 2x4=8

o9 oMCERS G WAl ¢

(a) Write one diference between simple and
composite hypothesis.

TR G TS ATES R by oA ol |
(b). Explain the term ‘standard error’.

T @0 *E O @ |

(c) Define treatment and experimental
error in design of experiment.

A SfSTERe BobIR i SIS SoF e
gzl
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(d) What do you mean by ‘Yates's
correction’?

Bt w@ e & gee

3. Answer any three questions from the
following : 5x3=15

weq R fofaot e Teq ol ¢

(a) Write the basic principles of design of
experiment.

S| SER GRS s R |

(b) A random sample of 500 apples was
taken from a large consignment and
60 were found to be bad. Obtain the
(i) 95% and (ii) 99% confidence limits
for the percentage of bad apples in the

consignment.

I B 7S TR AR (R 5006 St
q{Bes Afer® 600! ewieT (A @I, AABOS
(ol @@ S (i) 95% B (i) 99% e
Fhal Fef =0

(c) Write five advantages of non-parametric
methods over parametric methods.

AGEE o9 SIS WElbeTIE AweT #AIe0!
AR T
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e,

(d) Discuss in detail how Chi-square

(e)

statistic is used in testing goodness of
fit.

72 <o ARl (S TG (P! A
R iR 3 =0

Construct an ANOVA table of an
experiment involving six treatments in
four randomised blocks using the
following data :

TR SAPTRE AR I BIRGI Agies de
0! BobIT A 2RIFT @2 ANOVA Sifersl
oS 9 ¢

SST = 901.19
SSB = 219.43
Total SS = 1350.25

Answer either (a) or (b) : 10
(a) STt (b) T TG 74l ¢

(a) Discuss in detail the analysis of

variance of one way classified data.

G o oYg 2R [oigd swfet
ST 41
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(b) Describe the procedure in median test
when there are two independent
samples. What non-parametric test
would you use when the two samples

are related ?

w5l g elforsds Tl SRR ARFe 3
aﬁﬂtxﬁ—c&aﬁoﬂ@mﬁ@@,mgﬁﬁs
welpeTE ~Rr T9R |

5.  Answer either (a) or (b): 10

(@) 52t (b) 9 Ted ol ¢

(@ What is a randomised block design ?
Write its advantages and disadvantages.

2+4+4=10
B e SfewEH 92 209 3t i Srfi
sz Gy o
(b) (i) Fora nx2 contingency table 5
gd 2x2 SRS iR A
a|b]
c|d
Show that (S @)
N(ad - be)

2= (@+b)c+d)b+ d)a+c)

where, (¥9) N=a+b+c+d
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(i) Write any five applications of y2

distribution. 5
2 A5 Rz #lob! s S 4 |
6. Answer either (a) or (b): 10

(a) ©9aT (b) 3 TS fral ¢

(a) Derive Wilcoxon two sample test.

ol sifov=fa Qlta Wilcoxon S EFICH! eft =41 |
(b) Write short notes on : 5+5=10

53 (oIl fordl 2

(i) CRD

(i) Principal steps in testing a
statistical hypothesis.

ARARAT T 25 AT 2 AL
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